


Statement:

Should internal assessment in
colleges and  universities be

abolished?

Argument:

u\?/ﬂ yes, this will eliminate the
f £ possibility of favouritism.

\/5) No, teaching facullty will lose

control over the students and
this would adversely affect their

academic growth.

HU:
T drooll IR fafdemea  #
AARD HediHd WH B QAT dANBY?

qP:



1) B, SHY HUTT B G T &
gt |

2) &I, REfvr JH™ BEl R AhE
G T R T Se e
fdpr W dfddhd gHT e |

(a) Argument (1) is strong
(b) Argument (2) is strong
\/‘4 Argument (1) & (2) both are

strong

(d) NOT



A Paper in folded and cut as
shown in the figure. How will it
appear when unfolded?

0 PE i RaEr agER @ e @
M AIST 3R PIeT ST 8| o | T8
T e R 2

do o3 7o 0¥




L/((]{aughter in law/ 9§

(b) Daughter/ Sl
(c) Niece / HIGI /TSIl
(d) Mother/ Hf

A family  comprises seven
members of which there are two
couples. There seven members
included A, B, C, D, E, Fand G. C
is the sister of B. A is the father
of F and E if the brother of F
and F is a female. G is the
mother of B. D is the mother in

law of G.
How in G related to A?

gRIR # H1d 9 g fo9H 9«
gufa 8| 98 91d 9ei ¥ A, B, C,
D, E, F 3R G ¥t €1 C, B &
g87 8| A F oI fUar 8 3R E, F &1
His 8 3R F U& Afgem 81 G, B &I
Hf 21 D, G 3 99 2|

G BT A 9 T GaY 27



Statement:
1) All inner are jackets

2) Some inner are coat

3) Some jacket are not sweater.

Cuﬁcgsiuns:

f ‘_)—) Some jackets can be sweater

\/énth follow

(b) Only I follows
(c) Only II follows

(d) none follows

27 At least some coat are jacket

G

1) 99 SR, 9aC &

2) BB TR, DI B

3) BB Adc, Wex T8l & |
frpy:

1) §B Jdhc, WX 8 Iad 8
2) HH A $H HYP DIC, ADC &



Complete the series;

7¢ (a) DGSB D

(b) SCBD

@ C;@y‘c\s@



/() Husband’s brother/ Ufd &T 915

(b) Husband / 9fd
(c) Father / o
(d) Brother / CIE]

A # B means A is brother of B
A @ B means A is daughter of B

A & B means A is the husband of
B

A % B means A is the wife of B

If LaM%F#Q&P@N, then how is
F related to P?

A#BHTIA 8 ‘A, B IS &
A@B®T 3 & ‘A, B®I 921 &
A & B & 3 § ‘A, B3I Ufd &
A%B & 3 & ‘A, B3 Tl &

Ife L@M%F#Q&P@N, o F, P ¥
fPa TR et 2|



‘“'Q ()
rb)\ L ,/ /

Which figure follows next in this
pattern ?

Problem figure:

§9 Ued # o ford @ W 27
T fo: €/\ &
AN /2 \\
/

f's\\ \ H / \\i’ /

K




A,B,C,D,E,F and G are sitting in a
linear row facing north, but not
necessarily in the same order. F
sits second from one of the
extreme ends only two persons
sit between D and F. As many
person sit to the right of G as to
the left of G. C sits fourth to the
left of E. B sits to the right of A,
who does not sit adjacent to D.

person at the both corners will
be?

A, B, C, D, E, F 3R G St &l 3R
g PRe b WEd ufte d 93 T,
dfe o) 8l b s H9 H 8| F
fHa o Sift BR ¥ TR WM W




93T 8, D 3R F @ 19 dad < Agfp
48 81 G 3 TV 3R I & aAfh
RBERT G I AR|IC,ED
¢ ¥ 91 WH R 2 B, A U W
WR 8 Ol D & 9HIY 718l 99T 8| qFl
®IFl R DY DI Afh 83 87

@) AB  ~ B AE

(c) CE (d) FB



X

Statement:;

The retail vegetable vendors
increased the prices of
vegetables by about 20% due to
non availability of vegetables at
Lower price at the whole sale
market.

Assumption:

1) The customers may totally
stop buying vegetables at higher
price.

\/Zthe customer may still buy
vegetables from the retail

vendors.



.

NP Ok H P9 dHFd R Gfsordi
SUAE T8l B B BRU Gl Heoll
farei 7 wfrai @1 HHal |
T 20% @7 Ifg BT B |

HIRIT:

1) UEd 3JfeF DHd W Gfewdi
GRAGAT T R ¥ §§ I 9Hd © |
2) YD I W Gax1 faswarei |
Hfssrat g [Har B |

(a) Only I implicit

(b) Both implicit

L/.k‘rﬁnly II

(d) Neither



Select the option that is related
to the fifth number in the same
way as the second number is
related to the first number, the
fourth number is related to the
third number.

99 fAdcy &1 T4 S O UiEd Hex
H 99l UPR Weftd 8 SN gERT SR
Ugel FeR | Heferd ®, 9T Fea) deR
R ¥ et 2|
2:209:2720:198

\_Jar7bz (b) 698
~

(c) 718 (d) 720



Select the option that is related
to the fifth number in the same
way as the second number is
related to the first number, the
fourth number is related to the
third number.

99 fddeq &1 999 HN S Ui F&R
H S UPHR Hefrd 8 SN TENT Ha”
Ugel Fie} | et 8, T Fex RN
R 9§ Geferd 2 |
91:6:?2:7:169:8

27 Q) 125

0@ 98 o(d) 105



Pointing to the photograph of a

girl Akanksha, Rajeev said, “Her
daughter’s father’s wife’s mother

is my wife’s daughter’s mother’s
mother in law”. How is Rajeev

related to Akanksha?

U TSl IAMHIET D TER Bl SIRT
HYd BY, NIGd o $HEl, SHD! 9 D
fOar &) g & H A TGS P S
@ HJf D GRT 87| Ioig ITHiET |
frg TR deftra 87
(a)Father/ﬁ?lT

(b) Pateranl uncle/ Tl I A%
(c) Maternal uncle/ =TIl

k-’(‘afrﬁrt:uther}' IS



Statements:

1) The cab driver union in city A
has announced that all the cab
drivers will be on a strike as a
demonstration to voice out their
grievances. The decision will be

W in effect from the very next

minute of the announcement.

2) Priti remarks to her friend
Sona that the buses and local
trains in city A are more

congested than usual.

HY:

1) I A H Y FEN JFIT |
HIYoT &1 & b 9 He FEax Ul



Rrerd owm o1 & i ugsH &

R W gedld R @i | I8 i

HY & T & fAFe | wwE

BT |

2) MY N Jq AT F FHEA ©

f6 e A ¥ 9 IR AP oA
¥ e HNeure arel 2 |

a) Statement I is the cause and
Statement II is the effect.

(b) State II is the cause and
Statement I is the effect

(c) Both statement are
independent cause

(d) Both statements are effect of
independent caurse.



(a) Statement I is the cause and
Statements II is its effect

\/bj’futements II is the cause and
Statemet I is its effect
(c) Both are independent cause

(d) Both are effects of
independent cause.

Statements:

1) The colour red is used in signs

to draw immediate attention
from a distance.
2) The red light travels the

farthest in air than light of any
other colour.

D

1) R 9 qd &I NPT HA
forg Sadl ® AT T & SYART fha
ST 2 |

2) o g fhedl df o= M B
YIS B oAl H FAT H WY D
R TP T ol & |



v I)?F7€7A> 7

\lf @

(c] 110 kg

(b) 60kg
(d) 48 kg

There are six person A, B, C, D, E
and F who all have different
weights. Only two person are
lighter than A, B is heavier than
A but lighter than C and D. F is
heavier than E but lighter than
D. D is not the heaviest. The
weight of 274 heaviest person is
115kg and weight of lightest is
56 kg. Weight of C likely to be?

ve Afb A, B, C, D, E 3R F &,
o1 9919 ST TSIl T 8| ®ad al
afth A 9 8P 8, B, A 9 ANl B
Wféd C IR D ¥ & 8| F, E ¥
ARl 8 ofbd & ¥ Sl & & 999
a9 T | R G A @Re B
g 115 feam™ 8 iR a9 &
fts &1 9o 56 fHaRIH 81 € &1

I B B GHIGET 87



Statement: A speeding truck has
seriously injured many persons

sleeping on the roadside early in
the morning.

Course of action:

1) The local administration
should immediately put a
complete ban on people sleeping
on the roadsides.

2) The driver of the speeding
truck should be nabbed and tried

for the crime he committed.
h¥Y-:

Ya5—gas TP I TWR §F 7 6D
fFIR |1 @ P AN DI TR BU A
HId $) 34T ©.



HRATE D AR
1) WG W B dopld gD
(— R an g af )b aftee

)( ST Ry |

2) O VAR ©bF P SEAR Pl
/ THSHR SUD IR P oI FHeHm

TATIT ST AR |

(a) Only I (b) Both

k/u,yoﬁy IT (d) Neither



Statement:

The apex court has directed that
there is a need to bring in a

mechanism in the government
functions to make  thgm

transparent.
Course of action:

The Govt. should immediately
appoint a task force to work out
the modalities.

2) The Govt. Should appeal to the
apex court to reconsider its

directive.



HY-.

W e A fAdy fRar 2 &
WHN! PHDN B IRSY 99 D
fo te o7 M B Sexa 2
PRATE B QNI

1) PR, AR—ND R FH HHA D
foe qa @ e B fage @
S =Ry |

2) TRPR. Y ASTAd A 39+ fAgw
W TAfdOR &%= @ Idfiad &Y

18y |

\}wﬂy/l (b) Both

(c) Only II (d) Neither



P and Q start walking from the

same point and both move 35 km
in opposite direction. P turned

25 km to the left, Q also turned
25 km to the left. How far are

they from each other?

P33R Q UH @ fdg 9 ¥e o
&xd 8 IR I fawda feem # 35
fodft =rera §1 P 25 folt ariT 3R g

T, Qﬂﬁzsﬁiﬁrmﬁraﬂvﬂswm




Starting from her home, Sameera
walked a few meter east. From

there she turned to the right and
walked 100 m and then turned to

the left and walking 30m. She
finally turned to the left and

walked 40 m to the market. If
the pneumatic distance betwwen

her house and the market is
100m, how for did Sameera

initially go from her house to the
east?

I ER ¥ YO Db, AR HB AleY
gd &I 3R Tell| 981 9 98 <% AR
TS 3R 100 Hex =l iR R ars
3R I AR 30 #HeX =il | 3iqd: 98



it AR qSI SR 40 Hiex TN
YR 6 M| I S¥d W 3R
IR @ d9 a9 g8 100 WX
al WERT 9 H 309 R 9 g4 DI
AR DY 7

(a) 30 m ABT50 m
(c) 60 m (d) 80 m



Statement :

1) No blue are black
2) No black is brown
3) All brown are violet

Conclusions:

\_/1) All blue being violet is a

possibility

x 2) Some blue is not brown.

(b) Only II
(d) Neither

YA :
1) BIS el Prem &7 |

2) BIg Pl YT T8I &

3) ¥t W T E

ferepy:

1) G el & 7 B B OGHTEAT
2

2) {O AT TR & B |



Select the option that represents
the letters that, when placed
from left ot right in the same
sequence in the blanks below,
will complete the letter series.

G- MA-VoYK TQ-MR-VO-US

99 fddcy &1 a9 H Sl S IER|

® guar 8, g -9 R = ¥
M %9 H 91¢ ¥ §IU TG TR IER

: =
G_quo TQ MR _UyoPus

@ (a) XGVSP 5 (b) XOWSO
(_ISHXIWSE (d) XGWTQ



Odd one out?

faws e sa W |
__AS) 46 - 41 - 12

(b) 16 - 9 - 21

(c) 23 - 18 - 15

(d) 34 - 28 - 18



In a class of 80 students where
W:glﬂgﬂber of girls are three times
C’ E> an the number of boys. Komal

(4 ’ Ai 53 from the bottom. If there
o agriré‘ 11 boys sitting ahead of

komal then how many girls are
behind komal?

80 BTAl I Uh HeT ¥ Wal dsipdl
1418 ) e weet B e ¥
52 Kk | e AR ¥ 538w w E) AR
5R PHA P AN 11 dSP s B ar

5_.1 A ® NID fha- dsfhar 22

Rs\fques wr@ (@)

(c) 44 (d) 43



Statement :

DY
U2V=W<X<Y<Z

Conclusions:

(a) Only I follow

(b) Only 2 follow @
Either 1 or 2

(d) Both follows



There are 8 people Z, Y, X, W, V,
U, T and S sitting in a row facing
north, W sitting at the end of the
row. There are four people sitting
between W and V. There are two
people siting betwwen V and X. Z
sits, immediately to the left of V.
T sits third to the right of Z. T
does not sit at the end of the
row. There are two people sitting
between S and Y. Y sitting near
to W. How many person sit to the

left of U?



8T Z,Y,X,W,V,U, T3IRS T
URF #§ SR & 3R 9 P €S &,
Wikh d g A 0T8I WIR VS
dg AR ART §3 8| VIR X @ o9
A AT B 2| 2 VD P I 3R
SBAT eI T, Z & S 9 AR R™H
R doar 8] T Ufda & JRE BR
R S 8T 2] SR Y & &9 o
AP SIS Bl Y, Z P Mdc SaT 81 U
P 915 3R fhaw =aftp 98 27

(a) Thyez_ (b) one
(c) Two one of these






